

$$\sqrt{x^3 f(n+1)} \leq n^3 f(n+1) > 0 \quad f(n) \geq \left(\frac{1}{n}\right)^{n+1-2} - 1$$

$$x^3 \left(\left(\frac{1}{n}\right)^{n+1} + 1\right) \geq 0$$

n	n^3	$f(n+1)$	$\left(\frac{1}{n}\right)^{n+1} + 1$
$n < 0$	مثبت	$n < 1$	مثبت
$n = 1$	2	0	0
$n > 1$	مثبت	مثبت	مثبت

$$D = [0, 1]$$

$$D_{f(n)}: \quad n + (n+2) \geq 0 \rightarrow n + n + 2 \geq 0 \rightarrow 2n \geq -2 \quad n \geq -1$$

$$D_f = [-1, +\infty)$$

$$D_{f(-n)} = (-\infty, 1]$$

$$\frac{n-1}{f(n)} \geq 0$$

$-$	$-$	$+$	$+$	$-$
$-$	$+$	$+$	$+$	$-$

$$D = (-1, 1] \cup [2, 3)$$

$$\frac{1}{(n^3 - 1)^2 - (n+2)^2} \geq \frac{1}{(n^3 - 1 + n + 2)(n^3 - 1 - n - 2)}$$

انامضادرج

هناك شرطان جود، نأمن

هناك شرطان جود

$$\sqrt{-(-1+3)} \leq \sqrt{-2}$$

$$D_f \leq \frac{1}{n^3 + a + b}$$

$a \leq -1, b \leq -3$

$$f(n) - f\left(\frac{1}{n}\right) \leq n^3 - n - \frac{1}{n^3} + \frac{1}{n} \geq 0$$

$$y \leq n^3$$

$$\frac{n^3 - n^3 + (n^3 - 1)}{n^3} \geq 0$$

$$\frac{y^3 - y^3 + y^3 - y^3}{n^3} \geq 0$$

$$f = n^3 \leq f$$

$n \geq \pm 1$

$-$	$+$	$+$	$+$	$+$
$-$	$+$	$+$	$+$	$+$

$$D = [-2, 0) \cup [2, +\infty)$$

$n^m + n \leq 1 \Rightarrow n=1$ $f(n) = 2n^{m-1} = 2(1)^{m-1} = 2$

$n^m + n \leq 1 \Rightarrow n=1$ $f(1) = 2(1)^m - 1 = 1$

$F(1) \neq F(2) \leq 1 + \sqrt{2} > 1$

$F(n) = n^m - 2n^{m-1} + 1 \Rightarrow F(\sqrt{m}+1) = (\sqrt{m}+1)^m - 2(\sqrt{m}+1)^{m-1} + 1$
 $g(n) = n^m + 2n^{m-1} + 1 \Rightarrow g(\sqrt{m}-1) = (\sqrt{m}-1)^m + 2(\sqrt{m}-1)^{m-1} + 1$

$\Rightarrow \frac{g(\sqrt{m}-1)}{F(\sqrt{m}+1)} = \frac{-1}{1} = -1$

$\sqrt{x+f\sqrt{x-f}} + \sqrt{x-f\sqrt{x-f}} = \sqrt{\frac{1}{2}(x-f) - f\sqrt{x-f} + f} + \sqrt{(x-f) + f\sqrt{x-f} + f}$
 $= \sqrt{(\sqrt{x-f}+f)^2} + \sqrt{(\sqrt{x-f}-f)^2} = \sqrt{x-f} + f + |\sqrt{x-f}-f| = \sqrt{x-f} + f + \sqrt{x-f} - f$
 $= 2\sqrt{x-f} \Rightarrow a=0, b=1, c=-f$
 $\frac{a+b}{c} = \frac{0+1}{-f} = -\frac{1}{f}$

$F(1) = \frac{1+1}{1-1+1} = 2$ $F(1) = \frac{1+1}{1-1+1} = 2$
 $F(1) = \frac{1+1}{1-1+1} = 2$ $F(1) = \frac{1+1}{1-1+1} = 2$
 $\frac{g}{F} = \frac{g(1)}{F(1)} = \frac{1}{2}$ $\frac{g}{F} = \frac{g(1)}{F(1)} = \frac{1}{2}$
 $\frac{g}{F} = \frac{g(1)}{F(1)} = \frac{1}{2}$ $\frac{g}{F} = \frac{g(1)}{F(1)} = \frac{1}{2}$

$n=1 \Rightarrow n=1$ $n=1 \Rightarrow n=1$ $n=1 \Rightarrow n=1$ $n=1 \Rightarrow n=1$
 $F(n) = \{(1,1), (1,1), (1,1), (1,1)\}$
 $n=1 \Rightarrow n=1$ $n=1 \Rightarrow n=1$ $n=1 \Rightarrow n=1$ $n=1 \Rightarrow n=1$
 $F(n) = \{(1,1), (1,1), (1,1), (1,1)\}$
 $g(n) = \{(1,1), (1,1), (1,1), (1,1)\}$
 $\frac{g}{F} = \frac{g(1)}{F(1)} = \frac{1}{2}$ $\frac{g}{F} = \frac{g(1)}{F(1)} = \frac{1}{2}$